NEC MS EXAM.

Class (=) : 9th

)

GENERAL KNOWLEDGE (9W = J1) |

Who is the chief justice of India?

RA & T AT i &7

(a) H. S. Kapadia (T=. TH, HUTi$a)

(b) Altmas Kabir ( 37caad &t )

(c) R. K. Singh (3, &. f&g)

(d) Montek Singh Ahluwalia
(e foig smEeaTomE)

Who is the chairman of IPL?

IS, W, A, T A HiA §7

(a) N. Srinivasan (. sftfara)

(b) Sanjay Jagdale (H¥ SR )

(c) Rajeev Shukla (TSt gT&TT)

(d) Anurag Thakur ( 3TIIRT 31T )

What is the currency of China?

=7 T @ g7
(a) Yen (3) (b) Yuan (gar)
(c) Dinar (fer) (d) None of These (¥ 7&)

Which country doesn't belong to SAARC?
HF W A WS H G TG E?

(a) Sri Lanka ( ficieat) (b) Singapore (fdmgy)
(c) Bangladesh (&) (d) Bhutan ( 9eT)
Jwala Gutta is related to which sports?
e TeeT fRe Wt § Weifta 7

(a) Chess (39) (b) Badminton ( Srefie)
(c) Table Tennis (2aa 2fFw)

(d) Cricket ( fsehe)

Which is the oldest veda?
HF ol YU 9 87

(@) Samaveda (9WaT)

(b) Yajurveda (==[dg)

(c) Atharvaveda ( AgEaT )
(d) Rigveda (eT)

Lord Buddha was born in -
S q5 1 TH 3T 91-

(@) Lumbini (qﬁm’?)

(b) Vaishali (FoTTett )

(c) Bodh Gaya (ser &)

(d) Patliputra ( Ureeiya)

8.

10.

11.

12.

13.

14.

Kautilya was the prime minister of which
of the following Indian rulers?

Frfafean & & fm vaE & g wifeea 97
(a) Chandragupta Maurya (ﬂ?’l‘ﬂ )

(b) Chandragupta I (o&T@ 1)

(c) Ashoka ( 319 )

(d) Harshavardhan (goae)

The first Muslim ruler in India was?

aRA & WoH YRem I Hi ar?

(@) Muhammad-bin-Tughlaq
(TEvIe-fom-qrerh )

(b) Mahmud Ghazni ( 7gqg ST )

(c) Qutub-ud-din Aibak ( FJIET o)

(d) Muhmmad Gori (9g™g i)

Sher Shah's real name was -

YRINE T aTEd(aeh AW & aqr?

(a) Hemu (%‘5) (b) Faizi (i)

(c) Bahadur (®&1gt) (d) Farid (W)
When was the Delhi became the capital of
Inida?

feoelt R & T w e €37

(@) 1910 (b) 1911

(c) 1916 (d) 1923

Which of the planet is nearest ot the earth?
A W UE gt & wed Ao 27?

(a) Jupiter (Fgw@fd) (b) Venus (ITk)

(c) Mercury (99)  (d) Mars (HeT)
Which one of the following countries has
the largest known reserves of 0il?

frfafaa ¥ § ®F o waifae @ T Qe §?
(a) Kuwait (gad)  (b) Iran (M)
(c) Iraq (3T=) (d) Nigeria (ATgsitan)

Which one is the largest lake of world by
area.

St 3 gt fovar 8 W g w37
(a) Lake Victoria ( faeeiftan #iter)

(b) Lake Superior (gfuftaw gfiet)

(c) Caspion Sea (TFUEA |FR)

(d) Black Sea (¥d |I'Y)
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15.

16.

17.

18.

19.

20.

The highest Himalayan peak in India is -
aRA # femerm ® wew e et w6 §?

(a) Kanchanjunga (&asieT)

(b) K-2 (&-2)

(c) Nanda Devi (Fer 2dt)

(d) Nagna Parbat (7 udd )

Where is the capital of Nagaland?

AT H T FE B2

(a) Gangtok (TTere )

(b) Agartalla ( 3WRceT )

(c) Kohima (=hifear)

(d) Bhubaneshwar ( ‘313%!'93'{')

The 'Grand Trunk Road' connects

¥z g Te T T el i et 82

(a) Kolkata and Mumbai ( shieteTar i Hag)
(b) Delhi and Chennai (feeeit 3T o= )

(c) Kolkata and Amritsar ( hIcTehTdT ST 3TgaE )
(d) Tirupati and Ludhiana ( feeufa ik [IERIEID)

The minimum age required for becoming
the Prime Minister of India is -

ARAad ¥ G o & Torq e oy W e &7
(a) 25 Yrs. (25 ad)
(b) 30Yrs. (30 )
(c) 40Yrs. (40 9 )
(d) 35Yrs. (35 o)

Whose autobiography is 'my music, my life'?
g vafe, W e feRwent Shaedt 87
(a) Pt. Shivkumar Sharma ( ufsa fotaepam ymt)
(b) Ustad Amjad Ali Khan

(3HE AT el @)
(c) Pt. Ravi Shankar (dfsa Tfaviet)
(d) Ustad Zakir Husain ( 3%1§ ST @?)
Among the following persons whose birth
anniversary is celebrated as 'Sadbhavana

Divas' and death anniversary as Anti -
terrorism Day?

frafafan & 9 feme swfer & ‘agwreT feaw’
3iT ey fafer @t sndekarg el foam & wa o wemn
AT 82

(a) Indira Gandhi (gfeT et )

(b) Rajiv Gandhi (Trsita et )

(c) Mahatma Gandhi ( #gTEHT et )

(d) Sanjay Gandhi ( H= el )

21.

22.

23.

24.

25.

Which state of India has the lowest sex ratio
as per census 20117

2011 & THIUMT & 3ER fom T & femume
ol H &7

(a) Punjab (U< )

(b) Jammu and Kashmir (5 3R TR )
(c) Haryana (&famom)

(d) Sikkim ( fafewa)

Which among the following Indian artists
is the winner of the Oscar Award?

Frefafaa o & form TR FeTER AT JEER
frrem 2

(a) Dilip Kumar ( feeita %ar)

(b) A. R. Rahman (T, 3R, EHMA)

(c) Shyam Benegal (7a™ AT )

(d) Aamir Khan (3R @)

Who acts as the chancellor of State
Universities?

T & Tavafeemedl & wmenfuufa @ g 87
(a) Governor (T<gUTe )
(b) Chief Minister (q& Wil )
(c) Chief Justice of High Court
(S0 AT & YA ST )
(d) President (Ireufa)

R.T.I. stands for

oW, a7, wWirw w0 E-

(a) Right to Industry (e € FSwl)

(b) Right to Information ( g € TWRITHI )
(c) Right Time Internet (g 2TEA L)
(d) Right to Interfere (g T TEIHR )

What is the currency of Russia?
9 1 T RN 7

(a) Dinar (MR

(b) Dollar (Sfer)

(c) Ruble (®ae)

(d) Yuan (gar)
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GENERAL SCIENCE (¥ fa@me) )

1.

What is the SI unit of density?

T TSI AT 9T B 87

(a) g/m? (b) kg/m?

(c) g/m? (d) kg/m?®

Which one of the following is not a
fundamental quantity?

Frefefaa & @ wr gogm afir T@f 87
(a) Length (&arg) (b) Mass (ge&gH™ )
(c) Volume (3m&aw) (d) Time (9AH)

Which one the following is a pure
substance?

Frofefes ¥ @m @ g verd 2-

(a) Pure Milk (95 &)

(b) Cold Drink (3T U)

(c) Carbon Dioxide ( ShTslF STZ3MTRITEE )
(d) Brass (&iex)

The speed of Sound in air is about

T ¥ sy @ A a -
(@) 3 x 108ms! (b) 340 cms!
(c) 340 ms! (d) 340 kms™!

If air in the room warms up, the speed of
sound in it-

afg W ¥ gar T gt ¢ A et w -
(a) Increase (gt &)

(b) remains the same (T& WM T&dt €)
(c) decrease (¥ B)

(d) Fluctuates (SW et gt )

The longest cell of human body is -
ME IR o ¥ W@ T HITIreRt gil 8-
(a) Epithelial Cell (aT&a whIfyTen)

(b) Muscle Cells ( TiEusit shrfoTerT )

(c) Nerve Cells (@it wiforent )

(d) Bone Cells ( 31feer =ifyrent )

Carbohydrates are stored in which form in
plants.

Freigrzge Uil W form w0 o < grar €7
(a) Sucrose (TghITT)

(b) Glycogen (TeTZehSH )

(c) Glucose (TN )

(d) Starch (%T=t)

8.

10.

11.

12.

13.

ISI stands for

IS formam wftra w0 72

(@) Indian School Institute
(3fea = F=i=ge)

(b) International School of Institute
(FeTvra e 3w e )

(c) Indian Standard Institute
(Ffeam wued g=ige)

(d) International Standard Institute
(Fevre Rude SR

The term vitamin was given by :

foretfim wreg forweh grr foam &2

(a) Aristotle (Tft=at)

(b) Funk (%)

(c) Ronald Ross (TFTeE TH)

(d) Robert Hooke (fde &)

The point of attachment of leaf on stem is
called-

T ¥ TR & S ot S Wl o el e 87
(a) Node (T3) (b) Internode ( 3fdia )
(c) Stigma (3W9RT) (d) None of these (¥ &)

How many legs are present in cockroach

fereroregt o feramt W T 22

(@) 4 (b) 6
(c) 8 (d) 12
Birds are -

el 2-

(a) Oviporous (NfauRA )

(b) Viviparous ( fafaua)

(c) Ovoviviparous ( 3fatfaud)
(d) None of these (% Tl )

What is the formula of Common Salt ?

TIYNUT TH HT GF T Erel 87
(a) NaCl (b) KCL
(c) HCl (d) BaCL,
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14.

15.

16.

17.

18.

A stone is dropped from a hill. Its speed
after it has fallen 100 m is

UETS ¥ Uk Yoo fimar € 4t 100 wieT e v & =g
U Tl @ Bhi?

(@) 9.8 m/s (9.8 H./A.)

(b) 44.2 m/s (44.2 ®./A.)

(c) 19.6 m/s (19.6 H./A.)

(d) 98 m/s (98 W./A.)

Which of the following has the largest
inertia?

Froaferfaa o fermert smgul srfremam grar €2

(a) a Pin (T47) (b) a Pen (&™)

(c) Your Physics Book (TR wifeent ferarar)
(d) Your School Bag (=TT &&Hd o)

The force of gravitation between two bodies
does not depend on-

T UEH H ool [oeIRuuT W el Treferfad § |
o anfym & e 2
(a) their separation (37 37T EH W)
(b) the product of their masses
(3T FEEN & Fiamd W)
(c) the sum of their masses
(3% TEENE & TN W)
(d) the gravitational constant

(3 TEETRYUT TR W)
Which of the follwing is a vector quantity?
Frfafaa ® s ar wdter wiir 22
(a) Work (=)
(b) Kinetic Energy (Tfas St )
(c) Force (&)
(d) Potential Energy (Wefora i)

Who discovered microscope ?
TgehiRy forme gRT @ ferem mam?
(a) Robert Hooke (@€ && )

(b) Aristotle (TR®e)

(c) Linnaeus ( fafwsm)

(d) Faber (s )

20.

21.

22.

23.

24.

25.

Which of the following is not a vector?
Frfafaa ® s o wfeer afr 72 22

(@) Speed (=meT) (b) Velocity (&)
(c) Weight (¥R)

(d) Acceleration (&uT)

The "w" is the symbol for -

"w' feraer o 27

(a) Angular displacement ( wiIfura faemoT )
(b) Angular Velocity (eifora am)

(c) Angular Acceleration (=R T

(d) Linear Speed (@ wfa)

Which of the following are mechanical
waves?

Frefafaa o @F @ aife w82
(a) Sound Wave (&t @)

(b) Light Wave ( WehT9T @)

(c) Radio Wave (¥fgar @)

(d) Water Wave (9T @)

Blood Pressure of man during running -
3TISHT AT ToATT SIS & GHE o BidT &7

(a) Increase (@)

(b) Decrease (®eT)

(c) Remain Same ( 3T=X)

(d) Increase and Decrease both

(S T AR T )

The best conductor of heat among the
following is -

Freafoaa & # o wo@ ifus Iom 1 wTerE -
(a) Alcohal (TeIEet) (b) Mercury (URT)

(c) Ether (%) (d) Water (Umit)
Calorimeters are generally made of
FHEAHET S B -

(a) Copper (diam)  (b) Brass (&ieI)

(c) Alluminium ( Uefafem )

(d) Zinc (%)

The change in temperature of a body is 50°C
The change on kelvin scale is

3R et T &t arushe § 50°C T URedH 2T &

A TT TRaAT Head whet B w1 T
(a) 50K (b) 60K
(c) 70K (d) 323 K
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MATHEMATICS ( TTfuTe ) )

1.

8988 + 8+ 4 =7?

(a) 4494 (b) 280.875 10.
(c) 2247 (d) None of These (%1 T)
What number is nearest to 457 which is
divisible by 117?

457 % Taw Tieheau W &= W@ € W 11 ¥ faafom

a1l

(a) 450 (b) 451

(c) 462 (d) 460

The L.C.M. of 26, 56, 104, 182 is

26, 56, 104, 182 & @, ©, T EFM? 1L
(a) 456 (b) 728

(c) 748 (d) 1274

The greatest number of 4 digits which is
divisible by 12, 18, 21, 28 is

W 37(ehl i Gl ST GG A A € S 12, 18,21, 12.

28 § fawifam &n

(a) 9848 (b) 9864

(c) 9828 (d) 9836

0.000033 + 0.11 = ?

(a) 0.003 (b) 0.03

(c) 0.0003 (d) 0.3 13.

(0.2+0.3+0.32)="
(@) 0.77 (b) 0.82
(c) 0.86 (d) 0.87

A tailor has 37.5 m of cloth and he has to
make 8 pieces out of a meter of it. How
many pieces can be made out of it?

Tk Tl & U 375 W, FUSTR UG SH 1 WX & 8 14,

ZHY F §1 T A e R g

(a) 320 (b) 360

(c) 400 (d) None of These (%1 T)
-7m [3n - {8m - (4n - 10m)}] = ?

(@) 11m - 5n (b) 11n-11m

() 11n - 7m (d 11m-7n
Ifx+y+2z=0then (x*+xy+y?)="?

e x+y+z=0 WM (x2+xy+y?)="2?

(@) (y* +yz + 29 (b) (y*-yz+2?)

(c) (22 - zx + x?) (d) (2% + zx + x?)

When the capacity of the bucket is 13.5
litres, 12 buckets of water will fill a tank.
How many buckets will be needed to fill
the same tank, if the capacity of each
bucket is 9 litres?

13,5 ol QOaT ot ARt ¥ forelt do B w o o
12 STEEY T YA EIT &, A7 9 o, STHaT el aneet |
I F W WA § foRar areet wr Sea gri?

(@) 18 (b)8 © 15 (d) 16
J0.01++/0.0064 =2

(a) 0.3 (b) 0.03

(c) 4/0.18 (d) None of these (¥ &)
i = =18 enx=o

V169 13 TR E T

x _18 .

T 169 13 T X7

(a) 108 (b)324 () 2916 (d) 4800

The length of diagonal of a square is 8 cm.
The length of the side of the square is -

Tfe feredlt ot w1 forerot ot g 8 WA, @, o S®
T H T K G FT LY

(a) 2.8 cm (2.8 AI.)

(b) 1.414 cm (1.414 AI.)

(c) 5.64 cm (5.64 V)

(d) 2 cm (2 |H.)

A train moves with a speed of 30 km/hr for 12

minutes and for next 8 minutes at a speed of
45 km/hr. The average speed of the train is -

T 29 12 fime & fog 30 fdt/ver &t Tww ¥
et & Td R 8 WiMe & fodr 45 fendt. /der ot
TR ¥ Terdt & @ 39 i 3ia TR o 82

(a) 37.5 km/hr ( 37.5 T&Ht./4eT)

(b) 36 km/hr (36 &t /HeT)

(c) 48 km/hr (48 f&t, /HeT)

(d) 30 km/hr (30 f& . /HeT)
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. .19 . 21. 8 men can finish a piece of work in 40 days.
15. The product of two fractions is 15 and their If 2 more men join with them, then the work
uotients is . The greater of the fraction is - will be completed in o .
d 24 14g 35 8 et ferdt wm & 40 feoi ® wur wwva € Afg 2
aﬁ:ﬁwwﬁ%qﬁmwa% 3R 3wt v B ST @ 39 %W  fRe fo
. T HT N
2
@ I | g o g () 30 days (30 f&¥) (b) 32 days (32 f&)
@) 4 b) 7 © 7 @ 7 (c) 36 days (36 T&7) (d) 25 days (25 fa)
5 3 6 4 22. A person starting from his house covers a
16. Hitesh is 40 years old and Ronnie is 60 distance at 15 km/hr and returns to the
years old. How many years ago was the ratio starting place at 10 km/hr. His average
of their age 3 : 5? speed during whole journey is -
fedor 40 o &1 & i W 60 o @ {1 A fopa adt T 3MEH 21U WX A U g 15 T /Her @t TEw
TEE T W ST S 3 ;5 A1 7 A & U @ 10 fRh o T A e
(a) 5 Years (5 a8) (b) 10 Years (10 &d) m%;ﬁuﬁmmaﬁqawwgﬁﬁ7
(c) 20 Years (20 @&) (d) 37 Years (37 ad) (@ 11 km/hr (11 fw#./=er)
; i ! b) 12 km/hr (12 &5t /HeT)
b (b—c) (c—a) b(ab)_ ( .
17, (e o feere JOU e ) = 2 (¢) 12.5 km/hr (12.5 fem./ge1)
(a) 0 (b1 (c) x (d) @b+ (d) 13 km/hr (13 f&Ht./HeT)
1 23. A 150m long train crosses a man walking
18. What percent of — is== ? at the speed of 6 kmph in the opposite
7 35 direction in 6 seconds. The speed of the
2 1 train is -
7aarfm=nuﬁm£ grm? Teh 150 T, Tl 3, Ueh MU <l 6 YehUE W UN T
Wt ®, afg omaHt 6 I/ & WA W 3 &
(8) 2.5% (b)10%  (c) 25% (d) 20% fordta foom & wrerer @1 A 3 R wel W EWA?
19. A shopkeeper earns a profit of 12% on (a) 66 km/h (66 T4t /4er)
se.111ng a .book at lp‘Vo discount on the (b) 84 km/h ( 84 &3, /der)
printed price. The ratio of the cost price and (c) 96 km/h (96 Fst./HeT)
the printed price is ¢ f% & i
Teh THMER Tk fohama &t siferd gear W 10% &t g2 (d) 106 km/h (106 TeRH./qeT)
THT AT T 12% ol TN AT € A1 h.7, W sifpe 24, The difference between compound interest
=T T B2 and simple interest.at the same rate on Rs.
@155 50l 2000 for 3 year i Ro. 72. The rte o
(c) 99 : 125 (d) None of these (@ ) .
20. The incomes of A and B are in the ratio 3 : 2 5000 %. W W 2 w6 % ferd 0w W

and their expenditures are in the ratio 5 : 3.
If each sales Rs. 1,000, then A's income is-

A 31T B T 31 T 31U 3 : 2 ¥ i 3°a @l
3T 5 : 3 §1 G W&k 1000 o A B A A
H T H E?

(@) Rs. 3000 (3000 %.)

(b) Rs. 4000 (4000 %.)

(c) Rs. 6000 (6000 %,)

(d) Rs. 9000 (9000 %.)

25.

TGl W TE WURO & H MW 72 % F A
ik =T Wt X M 2

(@) 6% (b)8% (c) 10% (d) 12%
The area of a square field is 6050m?. The
length of its diagonal is -

Teh SR &F T SFeT 6050 Hi2 § At Iert faamut
wt T TR

(@) 110 m (110 #.)
(c) 120 m (120 W)

(b) 112 m (112 #t.)
(d) 135 m (135 #t.)
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Write an essay in about 200 words on any
of the followings : (4 Marks)
(@) Your aim of Life

(b) Democracy

Write a letter to your father describing him
about your extra curricular activities at
home and school (in 150 words).

(4 Marks)

Change any four of the following speech

from direct to indirect. (2 Marks)

(a) Shushma said to me. "Who are you?"

(b) He said, "Help! help!"

(c) He said, "Hurrah! My friend has passed"

(d) Vivek said, "Let we go out"

(e) He said to me, "Have a cup of coffee"

(f) My father said, "Labour never goes in
vain"

Write down the adjective of the any four

words. (2 Marks)
(a) explosion (b) favourite

(c) fever (d) accident

(e) advice (f) correction

Change the Active voice into passive voice

(2 Marks)
(@) One should keep one's promises
(b) Don't insult the poor.
(c) There was time to labour
(d) Rekha takes coffee every morning

Give one word from the given group of
words (2 Marks)
(@) A short summary of a book or speech
(b) The study of a functions of the body
(c) A figure with many angles or sides

(d) Animals with four feet

10.

Choose the most suitable preposition
(a) He is confident ...... his success

(i) of  (ii)for (iii) about (iv) towards
(b) His house is adjacent ..... mine

(i) with (ii) to (iii) from (iv) of
(c) I differ...... you
(i) from (ii) of (iii) with (iv) for

(d) He was killed .... a highway
man....a dagger
(i) by, for
(iii)in, for

(ii) by, with
(iv) with, for

Fill in the blanks in the following sentences

with A, An or the (2 Marks)
(@ ..... novel you gave me is out of print
(b) ..... Persian Gulf is ....narrow gulf

(c) Iron is ....useful metal
(d) My sister is only ..... F.O.

Write down the appropriate Antonyms of
the following capitalised word

(2 Marks)
(a) ELASTIC
(i) rigid (ii) Flexible
(iiij) unreliable (iv) faulty
(b) COMPOSITE
(i) eager (ii) simple
(iii) greed (iv) hesitation
(c) CROWDED
(i) poor (ii) alone
(iii)improvised  (iv) empty
(d) NOMINAL
(i) huge (ii) clear
(iii) real (iv) solid

Translate into English (3 Marks)
(a) & HEHH HIAT & feh 98 ek WG AT s
(b) &F 37U HTE THIE T ot B

(C) TE YT AT BIS ekl oft, T T I
(d) oIF 9T TeR W STGH AT [ehT BN

(e) wifg 3TeRTST | Wehe BT T&T £

(f) % IEhaX | AR B
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HINDI ( f&=t) ]

1.

Frfafea o A Tt T W 200 wredt o Treier ford|
(4 3fh)

(a) TETIRIE SHaA

(b) Sfram # 3mE

Ut HET T 3TV HAT T TY oF & foU orm
T 37 EU qUTTETE @ TR wek o e (150

vl o) (4 3i)
Frfafea =l = dftr fawse w01 (2 of®)
%, qfe G, HUEeE

T WEd q,  TEERT
Trefafaa vl o wfaug 9ur @) (2 3(6)
%, g 9. HIey

T, =T -

Trefeten g wqel & g U v fogl (2 of)
&, S WO A S Heh

T, gaed ¥ UEe w9
T, AR AT A ATl
H, T & 99T H S o e

Frefafeaa s w1 wet vataarst vsg == |

(2 3i)

® g

3. IR a3y

u == 3
g

A, IR q  Fa

| g T @fem
T g

3. Rl ¥ firfie

9 wd g dr
qou

3 gy ¥ Uw

|, g T ufm

7.

10.

A F WG AT T TG hifu (2 3F)

F. (i) T TIRY R/ (i) TN T AW, FHT, WA
31T o=/ (iif) Uer gW A/ (iv) W qfe &

@, (i) 5= 9/ (i) W W ;M (iii) A S == a1/
(iv) =rg Tfe &

M () o oS W/ (i) IMEX W/ (i) WA
wfgnl/ (iv) wiE qfe &

°. (i) g Freteuds war s € % / (i) snersRen
T Sirert e |/ (i) ot wfet wm 21/
(iv) =g qfe T

Treferfea o & foedt o) o=l o1 o=t waifer sroyfegant

H T R (2 3i)
F, ITTTRR T, g
T, T ¥, fasfreor
3 W o, ufed
Frefafae wort & wet swe 2 (2 3f®)
. HM-|T SAfdareeh §aT T &7

A, e a9 HX

W o 3 W=

@, fefafed o § @ v S aen v ®iE
o 8?

3T, Ul 9w
. Hehe Tz e
T. g fRE wew @ gdm 2
3q, I U ¥, "W e
| o e T W A WG T
¥, fraifea § S | wreg foteor §2
A, A 9 fue
w = T guey
Frefafaa ¥ @ foedt e @1 9@ W ® X (70 =t
o) (3 3®)

F. S W S99 Uepfd, T R Tehd HET|
v faw ama =&, @ue TEa e

@, em @ 987 &, @Y 7 G e
WET W 3 g, HE P qeanl



